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1. Find A
4 U
A
B
0
-8
B
2

() {-3,-5,7,5,-7,2,1,-2} (i) {} (i) {5,-5,-7,7,-2,1,-3} (iv) {-3,-8,-5,7,-2,5,1} (v) {-2,-5,-7,5,-3,7}

2. Find B
-1 U
B
A
)
0

(i) {-2,9,-5,-6,-7} (ii) {-8,9,-5,-6,-2,-7} (iii) {-5,-6,-2,9,0,-7,-8} (iv) {-2,-6,-5,-1,-7,-8} (v) {9,-5,-8,-2,-6}

3. Find AuB
U
9 8
1 -5
7 -6

(i) {-8,-4,3,-3} (i) {3,-3,-8,5} (iii) {5,-3,-8,3,-4} (iv) {-8,-3,3,-4,5,-6} (v) {-4,-8,3,1,5}



4. Find AnB

-7 U
A
B
B 2
=L
(i) {-6} (i) {} (i) {-6,6} (iv) {6}
5. Find A-B
-6 U
A
B
-8
4
0
-4
iy {y i) {-5,6,8,-3,5,-2} (iii) {-8,-3,-2,-5,5,8} (iv)

6. Find (A—-B)u (B —A)

{-2,-5,5,-3,6} (v)

5 4 U
A
B
; qp
8
9
-3
(i) {-5,4,1,-2,-6,-1,-3} (ii) {-5,-2,-6,1,-1,2} (iii)

(v

) {_21

-5,-6,-1,2,1,4}

{2,-2,-5,-1,4,1,-6,-9}

(iv)

{-2,-5,0,-3,6,5,8}

{4,-1,1,2,-6,-2}



7. Find (AuB) — (AnB)

-3 -9 U
A B
0
3
B 8
9
8
2
() {0,8,6} (ii) {8,4,0,6} (iii)) {6,4,0,9} (iv)
8. Find A
-8 U
A

;]
-4
-9
5

0
(i) {-9,0,-8,1,-7,-4} (ii) {0,-9,-4,1,-7,2,-8} (iii)
9. Find B'
2 u
B
‘B
4
6
-1
-4
(iy {-4,2,4,6,7,-1} (i) {} (dii) {6,-4,7,-1,2,8}

{9.4,6,8,0} (v)

{}

(iv)

{0,4,8}

{-1,6,2,4,8,-4,7}



10. Find (A u B)'

0 U
B
A
9
-1
~3
&
(i) {-1,-3,6,9} (i) {} (i) {6,-1,0,-3,9}
11. Find (A n B)'
1 -8 U
A
B
0 -6
-1 8
2
() {-3,-8,1,3,4,-6,-1,0,7,2,8,-5,-4} (ii) {6,2,-1,7,1,-6,-3,0,-8,4,3,8,-4}
(iv) {} (v) {6,-3,2,1,-6,0,4,-1,3,8,-8,-5,-4}
12. Find (A — B)'
21 U
A B
Q
5
7
-5
() {5.,9,0,3,2,6,-7,8,1,-5,7} (i) {} (i) {6,0,-7,7,-1,-5,9,3,2,5,1} (iv)

(iii) {e6,2,-1,-5,-3,7,1,3,0,-6,4,-8,8,-4}

{-1,9,5,7,6,2,3,1,8,-7,0,-5}



13. Find (B — A)'

{7,-7,1,2,-5,9,-8,-4,4} (iv)

9 U
A
B
-4 3
-7
@iy {3y dGi) {7,1,-8,9,-5,2,-4,-7} (iii)
14. Find ((A=B)u (B—-A))'
-9 u
B
A
-5 g8
1

(i) {} (i) {8,-8,1,-5,-9} (iii)

15. Find A'u B'

{6,1,-5,-9,8}

(iv) {1,-8,-9,8,-5,6}

-9

B
0
6
5

(i {9,-1,-7,-6,0,5,4,-2,6,-9,-4,1}
(iv)

{1,9,-4,-5,6,-9,-6,-7,-2,0,5,-1}

(i)

{5,-6,0,-7,-5,6,-2,-1,9,4,-4,-9}

(iii)

(v) {9,-2,5,1,0,-9,6,-7,-5,-1,4,-6,-4}

{2,9,-7,7,-4,-8,4,1}

{}

(v)

{-5,4,-8,1,-4,-7,2,9}



16. Find A' n B'

-8

(i) {6,-9,-8,-7} (ii) {6,-7,-8} (iii) {}

17. Find B' n A'

18.

19.

20.

21.

22.

23.

24.

(iii) {-9,9,-8,7,8,0}

(i {y (i) {9,7,8,-8,-9}

If IJ = {_21712741-578131_81_6161519:_7111_31_9,'4}, A= {'2,7,2,4,'5,8,3} and B = {'2,'8,'6,6,4,3}, ﬁnd A
(i) {_2127_91_5181773} (ii) {7181473121_21_5} (iii) {87_21773121_5} (iv) {_21312181_51_91714} (V) {41812731_577}

If u={3,-4,-2,-7,2,1,-9,-6,4,-3,-8}, A= {3,-4,-2} and B = {-7,3,2,1,-9,-2}, find B

(i {-9,-7,1,-2,3,2} (i) {1,-2,-7,2,-9} (iii) {4,-9,1,3,-7,2,-2} (iv) {-7,3,2,1,-3,-9} (v) {-9,2,3,-2,1}

Ifu={3,7-848,21,69,-3,5,-9,-1}, A= {3,7,-8,4,8,-2} and B = {3,4,1}, find AU B

(i) {-8,4,8,-2,1,7} (i) {-81,7,8,-2,3,4} (i) {7,1,3,-2,8,-8} (iv) {-8,1,3,4,7,-2,8,-1} (v) {1,8,7,4,3,-2,9}

Ifu={36,9,-7-181,54,5,-2,-43,2,-9}, A= {-3,69,-7,-1,8} and B = {1,-5,4,8,9}, find An B
(i) {8,9,2} (i) {8,9} (i) {8} (iv) {9,5} (v) {}

If u={3,-44,5,-2,-9,-1,-8,0,5,-7,9,7,-3}, A= {3,-4,4,-5,-2,-9} and B = {-1,-8,0,5}, find A — B
(i) {-2,4,3,-9,-5} (i) {} i) {9.4,-9,3,-5,-4} (iv) {-9,-4,-2,-5,4,3} (v) {7,-2,-4,4,3,-9,-5}

If u={-6,0,5,-5,6,-7,3,-8,1,-4,-1,7,9,-3}, A= {-6,0,5,-5,6} and B = {-6,5,-7,3,-8,1}, find B — A
(i) {-7,-8,3,1} (i) {-8,-4,3,-7} (i) {} (iv) {-7.1,3} (v) {-8,1,-7,3,-4}

If u={8,9,-2,-4,-7,-5,-9,-6,-3,6,7,4,2,3,0,1}, A = {8,9,-2,-4,-7,-5,-9} and B = {-4,-6,-3,6,7}, find (A — B) u (B — A)
(i) {_5107_61_91618171_3191_7} (ii) {619171_71_51_618:_91_2} (iii) {_27_61_91_7191_31_51617}
(iv) {-7,0,-9,-6,-2,7,-3,8,6,9,-5} (v) {9,-7,-5,8,7,-6,-3,-2,6,-9}



25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

Ifpu=4{61,-4-2,670,-184,9,-89,-553}, A= {-6,1,-4,-2,6,7,0} and B = {1,-2,0,-4,-1}, find (Au B) — (A n B)

(i) {6,7,-1} (i) {7,-8,-1,-6,6} (iii) {6,-6,7} (iv) {5,7,-1,-6} (v) {6,7,-1,-6}

If Ivl = {317191_11_2r_6r4r'9r6151'4r_8r'3}r A = {317,9,'1} and B = {'2,9,‘6,3,4,'9}, f|nd AI
(i) {} (ii) {51_41_9741_31_2761_6} (iii) {61_31_91_61_4141_815} (iV) {_31_61_81_91_27516141_4}

Ifu={10,-17,9,3,-6,-7,-2,-3,-5,6,4}, A= {1,0,-1,7,9} and B = {3,7,-6,-7,0}, find B’
() {-5,4,1,-3,-2,9,6} (i) {} (i) {-2,6,-5,4,-3,9,-1,1} (iv) {-1,-5,9,4,-2,-3,6}

If u={-2,0,-5,3,-9,9,7,-4,4,-7,6,-6,-3,2,-1,1,-8}, A = {-2,0,-5,3,-9,9} and B = {3,7,0,-9,9,-4,4}, find (A u B)'
(i) {-6,1,2,-8,-1,6,-7} (i) {} i) {-7,1,2,-8,-6,-3,-1,6}

Ifu=1{7.9-8-51,4,6,6,-4,5,-3}, A= {-7,9,-8,-5} and B = {-7,-5,1,9}, find (A n B)'
(i) {4111_4161_81_31_6} (ii) {} (iii) {47_81_31_415117_616} (iv) {61_41_31_81_61475} (V) {61_31471151_41_6}

Ifu={7,-9-81,6,8,5,4,0,3,-6,-5,4,9}, A= {-7,-9,-8,1,6,8} and B = {5,-4,6,-7}, find (A — B)'
() {9,-7,-5,0,-6,4,6,3,-4,5} (ii) {5,-5,4,0,9,-4,-6,3,6} (iii) {} (iv) {9,0,-5,6,-6,-4,4,3,-7}

If u={9,8,5,6,7,-5,-9,-8,-7,4,2,-2,-6,-1,0,-3}, A = {9,8,5,6,7,-5} and B = {-9,-8,8,-7,5,4,7}, find (B — A)’
() {-2,-5,6,0,-6,8,2,-3,-1,9,5} (ii) {-3,-5,7,-6,9,2,8,-1,0,-2,6} (iii) {} (iv) {-1,-6,7,0,-5,2,6,8,-2,9,5,-3}

Ifu={-8,594,.8,-1,-3,-7,0,3,-6,5,-4,-9,1}, A = {-8,-5,9,4,8,-1} and B = {-5,8,-3,-8,-7}, find ((A —B) u (B — A) )’

(i) {8,5,3,-5,-4,-6,1,-9,0} (ii) {1,-9,0,-6,-8,-5,3,5,-4} (iii) {0,-6,-4,8,-5,3,-8,5,-9,1} (iv) {}

If u={-9,2,5,-3,-4,3,-2,-6,4,-5,0,9,-7,-8}, A = {-9,2,5,-3,-4,3} and B = {-9,-2,-6,4}, find A' u B’

() {-8,3,4,-6,-7,-3,5,-2,0,2,-5,9} (i) {-7,-4,2,4,5,0,-2,9,3,-3,-6,-8} (iii)) {} (iv) {-8,0,5,-3,-4,-7,-6,-2,9,2,3,-5}

(V) {_81310r415191_3121_21_51_41_71_6}

If u ={-3,-9,-8,-4,-2,2,-5,4,8,-7,1,6,3}, A = {-3,-9,-8,-4,-2} and B = {2,-9,-4,-5,4}, find A' n B'
(i) {8,-7,6,1,3} (ii) {6,1,8,3} (iii) {}

Ifu={1,1,-7,0,-2,3,8,6,-8,2,-4}, A= {-1,1,-7,0,-2} and B = {3,1,-2}, find B' n A’
(i {y i) {-8,8,-6,-4,2}

Find n(A)
U
A
B
6 0
-3 4

(i) 7 (ii) 8 (iii) 3 (iv) 5 (v) 6



37. Find n(B)

I-

(i) 6 (ii) 2 (iii) 3 (iv) 0 (v) 4

38. Find n(A u B)

(i) 4 (ii) 6 (iii) 3 (iv) 5 (v) 8

39. Find n(A n B)

<2
A B
-6
0
4
-1
8
=3

(i) 5 (ii) 3 (iii) 2 (iv) 1 (v) 4



41. Find n(B — A)

42. Find n((A —B) u (B — A))

-b

[mx]

(i) 9 (ii) 10 (iii) 6 (iv) 8 (v) 7

43. Find n((A u B) — (A nB))

+F =

m

(i) 7 (ii) 2 (iii) 5 (iv) 4 (v) 6



44, Find n(A")

A
-5
7
5]

(i) 6 (ii) 10 (iii)) 12 (iv) 9 (v) 8

45. Find n(B")

(i) 6 (ii) 10 (iii) 4 (iv) 8 (v) 7

46. Find n((A u B)")

A
-3

(i) 2 (i) 5 (iii) O (iv) 3 (v) 4



47. Find n((A n B)')

8 6 U
B
A
g
7
-4
(i) 15 (ii) 18 (iii) 16 (iv) 14 (v) 13
48. Find n((A — B)")
U
B
CB
9
8
-9
(i) 12 (ii) 10 (iii)) 11 (iv) 13 (v) 8
49. Find n((B — A)")
5 4 U
A B
8
6
-4
(i) 14 (i) 13 (i) 10 (iv) 12 (v) 11



50. Findn(( (A—=B)u (B —A))")

02 U
A B
3 9
4 -4
6 -2
(i) 13 (i) 15 (ii) 9 (iv) 12 (v) 11
51. Find n(A' u B'")
] U
A
B
=7 3
=5
(i) 10 (i) 12 (i) 11 (iv) 9 (v) 7
52. Find n(A' n B')
-3 u
B
A
4
8
6
3
(i) 5 (i) 2 (ii) 7 (iv) 6 (v) 4
53. Find n(B' n A'")
-5 u
A B
_g ° _T
(i) 6 (i) 3 (i) 4 (iv) 2 (v) 1




54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

Ifp=1{-6,-8,-7,-2,-1,4,-4,9,0,3,-5,5,-3}, A= {-6,-8,-7,-2,-1,4} and B = {-4,9,-2}, find n(A)
6 (v) 4

(i)

If
(i)

If
(i)

If u

If
(i)

If 1
(i)

If u
(i)

If u={6,-2,-8,-1,8,-9,3,1,7,4,-6,-4,0,-7,9}, A = {6,-2,-8,-1,8,-9,3} and B = {1,7,-2,4}, find n((A u B)")

8

= {4,-3,3,-6,6,8,-2,5,9,-9,-4,-5,7,-8,2,1,0}, A = {4,-3,3,-6,6,8,-2} and B = {5,9,-9,4,-4,8}, find n(B")

11

(i)

(i)

(i)

(i)

(if)

5 (iii) 7

(iv)

6 (iii) 9 (iv) 7

10 (iii) 9 (iv)

4 (iii) 3

(iv) 2

2 (iii) 4 (iv) 1

(i) 9 (i) 4 (iv) 7

(i)

(i)

(i)

(i)

(i) 6 (ii)

If u={-9,-7,5,3,-1,8,7,2,-2,-5,6,0,-3,4}, A = {-9,-7,5,3} and B = {-7,-1,8,7,2,-2,5}, find n((A n B)")

(i) 10 (i)

Ifu={-7,-14,-2,-6,-3,-4,5,1,6,-5,9,-9,3,8,2}, A = {-7,-1,4,-2,-6,-3} and B = {-6,-4,5,1,6,-5}, find n((A — B)")

(i)

Ifu=1{3-2,7,-35-18,5,-8,-6,2}, A= {3,-2,7,-3} and B = {5,-1,-2,3}, find n((B — A)')
(i) 6 (ii) 9 (iii) 8 (iv)

If up = {6,7,4,-7,1,0,-3,-2,5,2,8,9,-1,-4,-9,-5}, A = {6,7,4,-7,1,0} and B = {-7,-3,-2,5,2,8}, find n(( (A — B) u (B —

11

A)))

(i)

If u={-9,-7,5,8,-6,1,2,0,-2,-4,-1,4,-3}, A= {-9,-7,5,8,-6} and B = {1,2,0,-7,5}, find n(A" u B")

(i)

5

14

(i)

(i)

(i)

9 (iii) 8

(iv) 5

(v)

11

(v)

(v)

(v)

(v)

8

(v) 8

6

0

5

6

7 (iii) 9 (iv) 8 (v) 4

10 (iii) 6 (iv)

9 (iii)

7 (i) 3

11 (iii)

10 (iii)

12

(iv)

(iv) 5

13

12

7

(v) 8

10

(v)

(V)

4

(iv) 12 (v)

(iv) 9 (v)

6 (iii) 4 (iv) 9

9 (iii)

11

(iv)

(v)

12

10 (v) 11

7

(V)

{2,-6,5,6,-4,8,-1,7,4,3,0,1,-8,10,-2,-5,-3,-9}, A = {2,-6,5,6,-4,8,-1} and B = {7,5,2,-1,4,-4,3}, find n(B)

{9,7,-9,3,4,8,-5,0,-6,-2,6}, A= {9,7,-9} and B = {3,4,8,-5,0,-6}, find n(A u B)

{3,5,-8,-7,6,9,-9,0,7,-2,-4}, A = {3,5,-8} and B = {3,-8,-7,6,5,9}, find n(A n B)

{2,-7,7,-8,-4,-9,8,1,-3,9,-1,5,-5,-2}, A = {2,-7,7,-8} and B = {-4,-9,8,2,1,7,-3}, find n(A — B)

{-2,-6,0,-8,-4,-1,5,6,9,7,-7,1,2,-5,-3}, A= {-2,-6,0,-8,-4} and B = {-6,-1,5,6,9,7,-7}, find n(B — A)

{4,-5,2,-9,0,-3,-6,-4,-1,3,5,-8,-7,6}, A = {4,-5,2,-9} and B = {4,0,-3,-6,-4,2,-1}, find n((A — B) u (B — A))

{-9,-7,3,4,6,-3,2,0,1,7,-2,9,-4,-8}, A = {-9,-7,3,4} and B = {6,3,-3,2,-9,0,1}, find n((A u B) — (A n B))

{7,-2,3,0,8,6,-8,-5,-9,2,4,-6}, A = {7,-2,3,0,8} and B = {6,-8,-5,8}, find n(A")

14

15

14

10



70. Ifp={-4,-9,6,-5,-1,-2,0,2,1,-8,8,9,7}, A = {-4,-9,6,-5,-1} and B = {-5,-2,0,-1,-4}, find n(A' n B')
(i) 7 (ii) 8 (iii) 3 (iv) 6 (v) 5

71. Ifp={-1,7,-3,9,-4,1,4,-5,8,-7,-8,6,-6}, A= {-1,7,-3,9,-4} and B = {-1,1,4,-4,9}, find n(B' n A')
(i) 8 (ii) 7 (iii) 4 (iv) 5 (v) 6

72. FindB — A

(i) {7,1y (i) {2,7,-8} (i) {} (v) {-8,7,1} (v) {1,7,2,-8}



Assignment Key

1) (iii) 2) (ii) 3) (iii) 4) (i) 5) (ii) 6) (v)
7) (ii) 8) (ii) 9) (iv) 10) (iii) 11) (iii) 12) (iv)
13) (iii) 14) (iv) 15) (v) 16) (i) 17) (iii) 18) (ii)
19) (i) 20) (ii) 21) (ii) 22) (iv) 23) (i) 24) (v)
25) (v) 26) (iv) 27) (iii) 28) (iii) 29) (iii) 30) (i)
31) (iv) 32) (iii) 33) (v) 34) (i) 35) (ii) 36) (v)
37) (iii) 38) (iv) 39) (i) 40) (ii) 41) (iv) 42) (iv)
43) (iii) 44) (iv) 45) (v) 46) (iv) 47) (i) 48) (iii)
49) (iv) 50) (iv) 51) (i) 52) (i) 53) (ii) 54) (iv)
55) (iv) 56) (iii) 57) (iii) 58) (ii) 59) (i) 60) (i)
61) (ii) 62) (iv) 63) (i) 64) (iv) 65) (iv) 66) (i)
67) (ii) 68) (ii) 69) (iii) 70) (iv) 71) (v) 72) (iv)
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